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[bookmark: _GoBack]According to the Cochrane Handbook for Systematic Reviews of Interventions (Version 5.1.0 [updated March 2011]) * supposing that given group means are M1 and M2, given SDs are SD1 and SD2, and the number of observations in each group is N1 and N2, respectively, then the pooled mean (M1+2) is calculated by:

Given there is no overlap between the groups, the pooled SD (SD1+2) of the new group is estimated by:

*Higgins JPT, Green S (editors). Cochrane Handbook for Systematic Reviews of Interventions Version 5.1.0 [updated March 2011]. The Cochrane Collaboration, 2011. Available from www.handbook.cochrane.org.

